· When a DNA molecule replicates, a chromosome is then made up of two joined _______. 

· Eukaryotic DNA molecules are packaged by _______ proteins, which associate with DNA.  

· In general, the division of the cell, called _______, follows immediately upon mitosis.  

· In a diplontic life cycle, as in animals, meiosis produces ______.

· During prophase I of meiosis, a unique event occurs that results in the formation of recombinant chromosomes.  This event is termed _______. 

· The stage of the cell cycle during which DNA replicates is called the _______. 
· The chromosome complement for a triploid cell would be designated ______.

· Asexual reproduction occurs by_______. 
· The cell reproduction process that ensures that only one of each pair of chromosomes is included in a gamete is _______. 

· Eukaryotic DNA is wrapped around histone proteins and  packaged into ____________. 

· The S phase always follows the _______ phase. 

· The G in G1 and G2 is short for _______. 
· The chromatin _______ during prophase. 

· The milestone event that defines entry into prometaphase is _______. 

· In plants, a _______ forms at the equatorial region of the cell during cytokinesis. 

· The plant cell plate is derived from the _______ of the cell. 

· A zygote usually has _______ copies of each chromosome. 

· The _______ is the number, form, and type of chromosomes found in a cell. 

· A _______ is one of a pair of chromosomes having the same overall genetic composition and sequence. 

· Nondisjunction causes the production of _______ cells. 

Synapsis occurs during ___________

· A _______ is a portion of DNA that resides at a particular locus or site on a chromosome and encodes a particular function. 

· Homologous chromosomes separate during ______________.

· Sister chromatids separate during ____________ of meiosis and ____________ of mitosis
· The experiments of Meselson and Stahl with the isotope ______ established the _______ of DNA.

· Chargaff showed that ______ always pairs with ______ in the double-stranded DNA molecule.

· The experiments of Hershey and Chase used the isotopes ______ to demonstrate that 

· If  Meselson and Stahl had observed two distinct DNA bands in the density gradient after the first round of replication, this finding would have been consistent with _______ replication.

· X-ray diffraction studies were done by _______________.
· The repetitive sequences at the end of many chromosomes are called _______.

· The fragments of DNA made on the lagging strand are called _______.

· The _______ function of the DNA polymerase reduces the number of mistakes made during replication.

· ______ caused by exposure to UV radiation are corrected by an excision and repair process.

· DNA replication requires the enzyme ______ to synthesize an RNA primer, the enzyme ______ to unwind the double helix, and the enzyme ______ to connect Okazaki fragments
· The two strands of a DNA molecule have a/n ______ relationship to each other.

· DNA is synthesized in the ______ (3’ to 5’ or 5’ to 3’) direction.

· The region of DNA upstream of the coding region, to which RNA polymerase binds is the ____________. 

· Additional proteins which assist in the binding of RNA polymerase, are _______ 

· RNA is transcribed along the DNA template which runs in the __________ direction.

· RNA is made from its ____ to its _______ end.

· During mRNA processing, ____________ are removed.

· What is one thing which ensures that a correct amino acid will be put into place as a polypeptide is synthesized.

· A polypeptide begins with the amino acid _______________

· A mutation which changes a DNA “codon” from ATG to ATC would be a _____________ mutation.  

· An insertion or deletion of one nucleotide in a gene would cause a ________________ mutation.  

· A chromosomal mutation, in which a piece of one chromosome becomes attached to a non-homologous chromosome is called a ____________.

· Beadle and Tatum are known for the ____________________

· What happened when Griffith mixed heat-killed smooth strain bacteria with rough strain bacteria and then injected this mixture into mice? 

· What molecule was Griffith’s transforming principle?

· What is the simplest way to grow a leucine auxotroph?

· An anticodon is part of ____________.
· A signal sequence is found on _________________.

· A polypeptide is made from its ___________ terminus to its __________ terminus.

· The genotypic ratio from a monohybrid cross is ______________.

· The phenotypic ratio from a monohybrid cross, where one allele completely dominates the other is _______________.

· If an organism is true-breeding, it is ____________ for a trait.

· Delaware Blue-hens, a result of incomplete dominance, have a ___________ genotype

· The alleles which cause type A and type B blood are ____________ to one another.

· The recessive phenotype of the ABO blood system is ____________.

· Of 160 F2 offspring from a dihybrid cross, how many display both recessive phenotypes?  

· In the F2 generation of a dihybrid cross, what proportion will display both dominant phenotypes? 

· What proportion will display the dominant phenotype for one trait and the recessive phenotype for the other?  

· To determine whether two genes are linked, it’s necessary to analyze the offspring from a __________ cross.

· If organism A with dominant phenotype is crossed with organism B, whose phenotype is recessive, the offspring are in a ratio of half dominant phenotype and half recessive. Organism A was (homozygous; heterozygous)

· Two genes are unlinked – each shows complete dominance. A dihybrid organism is crossed with one that’s homozygous recessive for both genes. How many phenotypes, and in what ratio, will be found in the offspring

· Two genes A and B are 15 map units apart on a chromosome. How many recombinant offspring out of 1000 would be expected from a testcross?

· Two organisms heterozygous for each of 4 genes A, B, C, and D are crossed. What proportion is expected to be AABbCcdd?

· If you wanted to know the genotype of a dihybrid plant (A_B_), you would do a testcross. What would be the genotype of the testcross parent?

· What happens when DNA is exposed to nitrous acid (HNO2)?  If this is not repaired, what consequences does it have for future generations of DNA?

